Anglicky jazyk
6A - Dan 6B - Cer 6AB-Fou

vyborné 4 1 4 9
chvalitebné 7 5 5 17
dobre 5 9 5 19
dostatecné 0 1 0 1
nedostatecné 0 0 0 0
2,06 2,63 2,07 2,26
AJ 6.A - Dan A) 6.B - Cer
H vyborné H vyborné

B chvalitebné
B dobre
1 dostatecné

M nedostatecné

M chvalitebné
B dobre
1 dostatecné

M nedostatecné

AJ 6.AB - Fou

H vyborné

M chvalitebné
m dobfe

1 dostatecné

M nedostatecné

Al 6

H vyborné

m chvalitebné
 dobrfe

1 dostatecné

M nedostatecné




Cesky jazyk

6A 6B

vyborné 11 8 19
chvalitebné 0 3 3
dobre 2 3 5
dostatecné 1 4 5
nedostatecné 3 5 8

2,12 2,78 2,5

CJ6.A Cl6.B

H vyborné

H chvalitebné
m dobre

1 dostatecné

MW nedostatecné

H vyborné

H chvalitebné
m dobie

1 dostatecné

M nedostatecné

)6

M vyborné

H chvalitebné
M dobre

= dostatecné

B nedostatecné




Matematika

vyborné
chvalitebné
dobre
dostatecné
nedostatecné

w N bhw
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H vyborné

H chvalitebné
H dobfe

m dostatecné

M nedostatecné

M 6.B

H vyborné

M chvalitebné
m dobre

1 dostatecné

MW nedostatecné

M 6

H vyborné

H chvalitebné
M dobre

= dostatecné

M nedostatecné




